NS HQ 2 — 239 0|21 AN

— Question
104 & 1,000 39 dH| XX LR FEE Sl
EESIAX st 7|9 oA %*DPF_P%% L} 5 7 2.5l Of
8}'—7}? CL 2 /E 2 X282 A 10%8] MF U E

E QEI A 0||_-_|.—; 7|.X-I o|-|:|-




NS HY 2 - 239 01201 AN

1) H2(Annuity)O| 2 HI2E|= AXNF E2E =S
9 |

2 2 SHCt,
2) H=9l nef7tx|= 2449 E@aE&e

2t2to n|2)7tx| & Tat0f Bt ECt
0 1 2 n—1 n
| | I :
| | I |
C C ........ C C

—— C(1+k)
C(1+k)n2
C(1+k)n-1

FVA=C+ C(1+k) + oot C(1+k)n—2 + C(1 +k)n_1

(1+k)n —1
K

=) FVA= C x




NS HXY 2 - 132 o2t

of) ExH 30MIQ F4l0] oftd 1,0002HAY AH 5%2| 52| 2 X =& H < 60A0 Hote
=2 2 & UA=71?
(1+0.05)3%0 — 1

okl = 69 6,43082
1,000 X 005 6<% 6,439




NS HQ 2 — 239 ol2NNY AN

3) d=9 #xIIX|= 244 @589 IR E 1510 &fstH =t
0
|
|

1 2 n
| |
] ]
C C  teececes C
C |
(1+K)
C
(1+k)2
C
(1+k)" o C c c
(1+k) (1+k) (1+K)n
B 1
=> s c (1+k)"




NS HXY 2 - 132 o2t

of) 255t SAAZRE FHOIFEXNF 22 19 E A 3% K22 X510 103 St
e dIHY 7|2 ot A2 1 592 AL E =717

—

1 —_
10
0.03

40

=> C=1,1728+




NS HXY 2 - 132 o2t

Answer

10 & 1,000 0| O|2f7IX|0|22 DjHd RE5H0F 5= =€ O|X|4 CE £1

TUAES 10%=E &oF LhE1 0] A=2 DI IHX[E Fots SHE AFSELIO.

rr

14+0.1 )10 — 1
cx 2L ~ 1,000 24

9| M OZRE| COf ZHE F5HH 629 7,4542HRQILICE
ThakAl O] 7|12 Oji O 6291 7,5008HA 4 S 101 SO R £20 104 £
1,0002{ 10| MH| SXXFZE AFRE 4 YA HUCH




NS HY 2 - g2|9 wice AYOINE

Question
8.2%°| =cl& HSFClE HESI= AF1 8%<
=c| & 858 2 HZ5t= X 50| QUCHH o= 20|

o S2|8C}?




O
NS HNM 2 - 52| vt NQ0INE
1) 228 N85t HIET 245 AB0|XBO| SIBICH
ex) 22| ¥IZ0| T2 129% F2Io| 4 EO| RS
Eo[ s | oi=mel | wb=s | e=o=e | a@=e
ALkl 1 (1+40.12)1 -1 | (1+0.06) -1 (1+O 03)4-11(1+0.01)12 -1
A 50[XE 12% 12.36% 12.55% 12.68%

2) =e2|9| HI=0f et AFJ0|XHE

im_
(1+H) 1

g 7ot 34




NS HY 2 - g2|9 wice AYOINE

9| gl&=(m)ofl met shE| 9 ojef 7EX| L SR 7HX[ &
75t S40| th52F €0 =Y =

k=>L n => NnXxm
m

HAX 52 H 6%2 =el2 JrdUCH 5 = Lot

rir
Bl
12

of) DHE 202HA4 = Q15T
= =717

e 82550 dYSt2EE m =12 0|,

0.06 5x12 50
0.005

0.06
12

+

= 1,395 gl




NS HY 2 - g2|9 wice AYOINE

4) W& X|Z5t= O| AR EE 4R 0[XHE2

mIo

Aol OF

rol

FC},

of) SH2ZFE H 6%2 O|AE2Z g2 WU &2 OfE O[XIXIZ0] 2+
E7| i =0l ALX7t A FEStE 4&0[AHE2 TrE1 20| AL

(1+ = Sk ) —1 = 0068

=, 228 6% &2 ME0|XE2 6.18%0|Ck




NS HX 2 - K2|9 Yo AQOINtE

Answer

8%2 =2l & 522 HEsl= A= d&5E& Ch37
Zo| #&tL .

(14237 ¥ 1 = 0.083

= 8%E 2222 &5y AB0|XSL 8.3%7} HCh
THEtA, 8.0%0] 22§ HEE 2 MRt MR EC} 8% E
=82 52t 50| AFO0|KE SHOM 0.1% 5
solEe FA FUCH




M HN 2 - AW 0182 MBS HN

CAHOM M EIIS2Z E0717] >

oM Atthel Aelg 29

o|2i 7tx[(FV) E= SMIIX|(PV) & o= o 442 S(-)2=2

o) FV =PV (1+k)" =>

* FV @ Ol2i 7|

" PV @R TIX]

" RATE : £ & (k)
* NPER : 7|Z} (n)

* PMT : XS EHZSE (C)

il

o
:

—FV + PV (1+k)" = 0

(o]l
——
(@)
-
rol




NS HY 2 — QU 0|82 MSHN
1) S=2 02} 7tx (FV) £= Ha2 0|2 7EX[(FVA) #5171 [FV Ol & ]
FV = PV (1+4k)n

(1+k)"—1
Kk

Of) BHE 1002HAY A 6%2 3 27| HZ0 71Yer E? 38 & Hnofel =5 28 &+ U=IH?

FVA = C x

2) S=9 drIIX|(PV) E= A=z SR IIAI(PVA) 75t7] [PV O E ]
1
(1+k)n

1
PVA = C x | TATR"
K

PV =FV X

of) SIS Z S IS 20084 201 SO LEF0] B 74Tt QAIZ 291 5,0008H S ot
& 5%0| 222 285t 2 JH20 ol 2ol Falt?




NS HQX 2 — U 0|2 MPSHIN

3) ¥ E=55(C) 7#ot7] [PMT 0| & ]
1+K)"—1
FVA= C x Ot
Kk
1 1
PVA= C x (4K
K

o) & 8%2 1¥=E= 1OO°*°49I SEES ¥ 108 SO A
S| HOHEHE NS ZS =2 ol

r

oy
o
=l
oln
0z
rtok




NS HM 2 - AUE 0|8 2 HNM

4) &2 & (k) T+5t7] [ RATE 0| & ]

FV = PV (1 +k )
1

(14k)n

(1 + k)n—1

Kk
:

PVA= C x 1= T +k)n

PV

FV x

FVA= C x

o) 1002182 Mdu|FAIE & Z 2 51 Setoid 30942 @a/U0| o4
ECHH £xteol 82 A E % 21It?




NS HY 2 - s 018A MSHN

[ W
5) 71Zt(n) #3171 [ NPER 0| & ]

FV = PV (1+k )
1

PV =FV x
(14+k)"
1 +k)r—1
A= ¢ x 1K)
K
]
PVA= C x (T + k)
K

of) & 12%2] O|AE = ofiE 1A X550 4,000 S =0 & =
4l =717




NS {2

[ Key Points ]

1) d=9 Olei7xl= 429 =589 nlef7HA & 510 et tts S40] 25
Al &HE T

(1+k)" —1

FVA= C x

2) d=9 IR = 442 @559 #MIIX|E 5t &et ot SA
Olaff A LHEICE.

3) 52| H 85t =7t 245 A 50[XE0| SISt




NS {2

[ Key Points ]

4) =e[9| glxof met Hetkl= 4 50[AE2 o

(1+ rin—)m—1

Ojo

SAO 2ol A L=

o| gl et otE|of Oj2) ZkA[ Lt A 7HA| & st SAO|

k=> ____ n => nxm

6) 24 (Excel) EEJ?:‘I o gt & MFI|1S= Ol EotH SHH[ 2| A|ZEIHX| 2F
HEE Y FA LS &2gA & + U



NS {2

~ Quiz |

s oM (Excel) T2 X £I|52 0/ 8510 Ch2 2H|Q| HS T8l HAIQ.

(o] I
M -
=2 A
= T

1. 30AIQl 0| BHT Bt G I £ S Bof i Wobe 4
& 6%2| 22/ X SBCH 70M 7} Bl 404 £ Y0t FE B

=
® 28,0002+ @ 2k 1Y 2,0002H2 @ 2F 14 8,0002H2 @ 2F 2Y 4,0002+H&

qH 1 ®

=Z0| : AdMOl MFV|s 5 FVE 0|85,
PMT = —128t2 RATE = 6%/12, NPER = 4802 Cj &l 3}H,
22 3,8980HI0|2F &2 g 4 ULt




NS {2

2. =9 Hix|s 200t E 328 0| 1980 S 3,0008H I =5tE 20| 20 St
30H) &S5t 9HEO| &[RULCE. O] OIME= A o R %A S8 Ao

M 18.5% @ 24.8% ® 33.3% @ 150%
HdE O
=0 :

Mol MR T & RATEE 0| 51K

FV = 92491, PV = —3,0002H, NPER = 202 CHY 51,
0.1853 - O|2HEHS A4S £

3. 3,0002HQl A SAIE H 5.256%2 =22l Z 36718 &5 Ut E? M Hokst=
g5 =2 oo

® 754,292& @ 849,724¥
X E|=—||- : @

20| : Ao RIS T PMTE 0/ 8501
RATE = 5.25%/12, NPER = 36, PV = —3,000%+
902,498%O|E|' CIS HHe A Of

— H= == _I_MEI--

® 902,498% @ 1,052,408

O

== OiistH,




NS HQ 2 (&)

199544 10€ LEfS & CHSHO| 4,0009 9 HAIE2 S ZHFCIE 2 =7t L7FHA Cf stol =
T 7t Tt 20 & Mo[A EQACE. o|mf 4,000 & 0|2t =0| Lottt 2 =o|2d © ZTI0|
LA st7] /s AEE2 BHEME XH = E ERE ES0| A0{0F & Yo[2pAH L & =BIO0| X}
dHE R ARM HE o Us =02t 422 BHSIH JUUES 2 & F4l A SIAC.

olof H&35IH A ofgel Bolge tiHel2 4,000 S L A Tlol F Thrt SOHH X| mf

o
SE{ 013 1214 DOLO} BHS 4 QI E0|2tT EESIUCH i1 12 Dot HE B3
ol DS 4,000 2Otof BHS 4 e E2 M oSS 7|l 53S0 A sHHCtD 42t

SHH EH2 = EINSHA| g + gle Yol Aol

3Lt 4,000H S 2HE7| s 0fE 1214 4,000 & 2010} BtCt= A2 =& RFALS
10| wotErt= ofmjo|ct, 280l XS5t 220t Y2stH 2ot #2 AlZho| ZE oot
CH8tal= 213 o| & DA 7HK| 28 F2[7H12~16% =Y S 2et5t0] 12%2| Ml % O|AtE 2 of
H 14 X =51 4,0004 S S0 B HolL A= 72
2|7t 20 A Hi 2 S34IS 0| otH ChS 3t 20| A AHE 4~ QUCt.
(1+0.12)x -1

X 012 =>X=5b

[0

4,000 A4 = 1

4 12%9] 220 M T 0fid 1244 5511 SQHIH X £ 513 4,0002/ 20| EIC. CHA| LA 2
3 552{ 20| O| X}TF 3,94591R10] = ZO|Ct =29 9[22 CIAZ MUK 42 4 2




